Divisible by 2, 3 and 6

Name:

1. Cicle the numbers that are divisible by 2

100 233 46 1,131

3,135 3,244 333 800

52 3,211 998 7,177

2. Cicle the numbers that are divisible by 3

504 99 1,000 339
888 125 2,245 3,909
1,111 2,340 702 760

3. Cicle the numbers that are divisible by 6

240 1,212 9,890 370

2,334 1,199 720 3,555

4,222 333 7,770 6,606
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Score:
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Answers

1. Cicle the numbers that are divisible by 2

‘
3,135 ‘ 1,157 3,088
@ 3,211 ‘ 7,177 9,085

2. Cicle the numbers that are divisible by 3
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3. Cicle the numbers that are divisible by 6

9,890 370
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